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What is the definition of Probability
(A) The study of random event
(B) The

occuring

likelihood of an event

(C) Themeasurementof uncertainty
{D) The analysis of sample data
What is the probability of rolling a 6
on a fair six-sided die?

(A) 1/6

(B) 1/2

(C) 1/3

(D) 2/3

If two events A and B are mutually
exclusive. What is the probability of
both event occuring?

(A) P (A)+P (B)

(8) P(A)-P(B)

(C) P(A) xP(B)

(D) P(A)/P(B)

If the probability of event A is 0.4
and probability of event B is 0.6
What is the probability of getting

either event A or event B occurring?
(A) 0.1

(B) 0.4

(C) 0.6

(D) 1

'88001\A12023

1.

[3]

afftrmen A aftsn aon 5

(A) mmgfrwn szt werr

(B) e sz & ufza 213 A siovraen
(C) Rmam # am

(D) = 377 fawerem

e aE T B BEY 97 6 WA B P

sftrpen #2
(A) 1/6
(B) 1/2
(C) 113
(D) 2/3
2 gzt A 3R B G Fuast 2, a2t

wes & ufea 8y o mfidan @ #2
(A) P (A)+P (B)

(B) P(A)-P(B)

(C) P(A)xP(B)

(D) P(A)/P(B)
ofe gz A & wiftrdan 0.4 & 3R g1 B

& fasar 0.6 1 AT ATGRAIB S
ufed 8m & @ wiiaesar 8?2

(A) 0.1

(B) 0.4

(C) 0.6

(D) 1
PT.0.
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3.

b

The probability of event A is 0 7 and
the Probability of event B 1s 0.3,
What is the probability of event A

not occruing?

(A) 0.3

(8) 0.7

(C) 0.1

(D) 0.9

What is the probability of getting a
head when flipping a ffair coin?

(A) 0.25

(B) 0.50

(C) 0.75

(D) 1.00

If the probability of an event A is 0.2
and B is 0.5, what Is the probability
of event A give that event B has
occurred?

(A) 0.10
(B) 0.20
(C) 0.25
(D) 0.40

9/ What is the complement of an event

.with probability 0.8?
(A) 0.8
(B) 0.2
(©) 1.0

) 00

11A\12023

uﬁmAﬁmmamﬂvrxa.nf.,
nhmanno,at,muz?TA%vrfta-{m

A s aan #?

(A) 03

(B) 07

(C) 0.1

(D) 0.9

v Py Rras 1 soree & fod o

s aan &7
(A) 0.25
(B) 0.50
(C) 0.75

(D) 1.00
aft gear A & giear 0.2 AR B A

e 0.5 2, @ ae A & FwE a9
2| srafs we B ufea gf &2
(A) 0.10
(B) 0.20
(C) 0.25
(D) 0.40

o.amﬁrmaﬁrmaﬂg;{asamé?
(A) 0.8

(B) 0.2

'.fv

(C) 1.0

(D) 00
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9. What is the probability of drawing a 9 62 a9 B A A vn qres nf) & vn e
red card from a stand and deck of 52 ard Prmery A afropen oy By
playing cards?
(A) 1/52
(A) 1/52
(B) 1/26 (B) 1/26
(D) 1/2 (D) 1/2
10. Ifthe probability of eventAis 0.3and  10. #f2 uz= A &) dwrar 0 3 # AR 921 B
event B if 0.5, what Is the probability # duraar 0 5 2, @ gz A A B ofea
of event A and B occurring? 21 A awran a 22
(A) 0.15 (A) 015
(8) 0.20 (B) 0.20
(C) 0.25 (C) 0.25
(D) 0.35 (D) 0.35
11. What is the probability of rolling an  11. Bg Y3l Al UK W vF TH A& AT
/ even number on a fair six sided die? &1 snfarasar @ &7
(A) 172 (A) 12
(B) 1/3 (8) 173
(D) 1/6 ) TR
12. If the probability of event A is 0.6  12. df< Be-T A &t 69 0.6 2 3R wem B
~- and probability of event B is 0.3, @ IWIET 0.3 &, Y TeAT A T weAT B
what is the probability of event A or ofeq 89 & Syan aar 22
B occurring? (A) 0.3
A) 0.3
(A) (B) 0.13
(B) 0.13
(C) 0.9
(C) 0.9
(D) 0.6 (D) 0.8
268001\A\2023 [5] P.T.0.
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13

14.

What is the probability of drawing

a king or a queen from a standard

deck of 52 card?

(A) 1/13

(B) 1/26

(C) 2/13

(D) 1/52

If the probability of rolling a number

greater than 4 on fair six sideed die?

(A) 1/6

(B) 1/3

(C) 172

(D) 1

What is the primary objective of

analyzing time series data?

(A) To identify Pattern and trend
overtime

(B) To calcullate mean and S.D

(C) To determine Corelation b/w
variable

(D) To determine future value with

100% accuracy.

16., Which statistical Measure is used

to decompose a time series into its
components

(A) Regression Analysis

(B) Exponential smoothing

(C) Moving Average

(D) Seasonal Adjustment

268001\A\2023

[6]

L,

14.

15,

16.

_ QA TSN Ul
52515;;5-:;;[1&?!035'”' !

et Freerdy y sfett 71 87

(A) 113

(B)
(C) 2/13

1/26

(D) 1/52

%qmmmdﬁmmm?h

gifaran @ &1

(A) 1/6

(B) 1/3

(C) 1/2

(D) 1

megawﬁwmwmm

39y 1 87

(A) aHa % Ty 8 3k T3 @ ggaE
BT

(B) #rem 3R ariah fame= & Mo AT

(C) T & dra v waw FafRa &=

(D) 100 % Wbl & AT WiaT & el
d FAT

forst e ggen & 3 wedt A Rufed

& & foe sk w e wfene ugfy

@1 3uanT fHar siar &7

(A) wfcnm fagemor

(B) uwig BRwé

(C) Hfam sita

(D) wret RS
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17. Which of the following technique is
used to forecast the future values in
time series analysis?

(A) Autocorrelation
(B) Box-Jenkins model
(C) Causal forecasting
(D) Moving Average
/18 Which measure is used to evaluate
the accuracy of a time series forecast.
(A) Mean absolute deviation
(B) Coefficient of determination
(C) Standard error
(D) P-value
I_Q/What is the purpose of constructing
7" Index Number?
(A) To compare the price different
Goods over time
(B) To calculte S.D. of dataset
(C) To

estimate population

parameter

(D) To determine correlation b/w

variables
;zd./Which Index number formula is

commonly used to calculate a price
Index?

(A) Lasperyres Index
(B) Paasche Index
(C) Fisher's Index

(D) Marshall Edge worth Index
.268001\A\2023

(7. ampr sjzaen fagdmo o afaer & gen w
gttt em @ forv Fretfertyaa v & frut
a1 g fpan e #)

(A) T@-HEGam

(B) - e Hizd
(C) ol waeh qat-ar
(D) werh At

1R W ST B TN BT GEAEA B B

v forer Jura @ v fepan s @
(A) wrez fordes faarer (M.O.)
(B) Frerfzor @t 7ot (r)
(C) 3R Y 7 4f7
(D) -deyg
19. Wﬁm%ﬁq&mzﬂm»mé?

(A) awa % i fafi azgat & B

(B) Soerie ¥ A fraer @ o1 B
& fore
(C) G HIUEE! &I FAM T
(D) T dra Gr-Hey FeiRa &
20, TEd GIHIH B AT B fore IR W

forw qadie g3 @1 3T fban s €2
(A) TG 33
(B) e geT
(€) foeR geaw
(D) wHier-TsTad S5
[7] P.T.0.
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e mm#momrmw

-1 What does a values of 100 in an  21.

Index number Indicate? m'?
(A) Inflation (A) W
(B) Defation (8) e
(C) No Change (© hf =
(D) Relative change (B) e qﬁﬁm faftr adora o
22 Which Index Number method 22, :::ﬂm R B 29 o
considers both current and base ;
period quantities and Price, R e st :
(A) Laspeyres Index (A) m m
(B) Paasche Index (B) e L i
(C) Fisher's Index (©) Rt !W
(D) Marshall-Edge worth Index (D) weer-arad B
3._21, What is the purpose of Inter polation  23. &1 farevor & m bl
in data analysis? (A AT IS R gedt a7
(A) To estimate values outside the
keGSR
given range of data
(B) to smooth the fluctuation in the (B) ¥e1 ¥ IAR-TGTa B W BT
data (C) 21 uRapeaam3il 1 GNEIUT AT
(C) To test the hypotheses _ (D) & & 11'§ S ¥ T W -
(D) To estimate the value outside .
the given range of data. S T
(28 Which  Interpolation  method  24. F-%ir navy R amEarE & 2o g3 &
estimates value based on a weighted -
average of surrounding data point? '-‘“Tﬁ?l LY S w g
(A) Linear Interpolation o &2
(B) Polynomial Interpolation g
‘ (B) W< warg
fp——— © s
rpolatio
268001\A\2023 i i (8] (D) =it v
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.

/27.

What is the primary challenge of
extrapolation in data analysis?

(A) Over-fitting the data

(B) Underestimalingthmmc.ertainty
(C) Extrapolation bias

(D) Lack of historical data

. Which extrapolation method yses a

best fit. Line or curve to estimate
future values?

(A) Linear extrapolation

(B) Polynomial extrapolation

(C) Spline extrapolation

(D) Exponential extrapolation
When what
assumption is typically made about
the underiying patterns?

extrapolating data,

(A) They will continue unchanged
in the feature

(B) They will reverse direction in
the future

(C) They will more volatile in the
future

(D) They will less preedictable in
the future

Given the following data points (x,y):

(1,3), (2,2), (3,4), (4,1), (5,5) What

is the spear mans rank correlation

coefficient |

(A) -0.5

(B) 0.5 e 3

(C) -1

(D) 1

2680011A\2023

25

26.

Z7.

28.

R71 Srwdtmron & vy ridrara ot aeifim A
B

(A) Zz1m svattez won

(8) oA A wa wrEn

(C) vwmaer gatue

(D) tfefas 221 71 ymma

A v # faft A g e
agw 1 A w7 A

(A) Wam varadrera

(B) g wAAT
(C) @w&n vagrd=

(D) BT TATIAT
31 B CRMATT BT ARG, FAA A

#ef & A d AR W@ 7 gRon &8
St 21

(A) wfdeg & o soRafda @&

(B) ¢ wfesx & feun agar &

(C) 7 wigw % aiftre HReR &N

(D) i & 39@1 gdTH & &1 FRAm

frfofaa & ¥ (x,y) & &= go W@k
#9 &1 & weaey oNie & 82

(1,3), (2,2), (3,4), (4,1), (5,5)

(A) -0.5

(B) 0.5

()

(D) 1
P.T.0.
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J22- Glven the following data points
(y): (1,5), (2,4), (3,3), (4.2)
(5,1) Calculate correlation
(A) -0.6
(B) 0.6
(C) -1
(D) +1

~30. Given the following data points
Oay): (1,2), (2,3), (3,1), (4,5)
(5,4) Calculate Spear-man's rank
correlation
(A) O
(B) -0.2
(C) 0.2

1/(D) -0.6
31. Given data set what is mean? 2, 4,

6, 8, 10.
(A) 4
(B) 5
(©) 6
(D) 7

yiven data set what is median 2, 4,

6, 8, 10.
(A) 4
(B) 5
(C) 6.

(D) 8
268001\A12023

¥ -

2 e b1 o Y T B

30.

[10]

31,

32.

(x,y): (1,5), (24) (3:3) (4,2), (5,1,

(A) 0.6

() 0.6

(€ -

(D) +1
WM%WW%WM
a@ & (xy): (1,2) (23 G,
(4,5), (54)

(A) O

(B) -0.2

(C) 0.2

(D) -0.6

R @ 3E@d g% 2,4,6,8,10, BT W

T &?
(A) 4
(B) 5
(C) 6
(D) 7
TR P @A g 2,4,6,8,10, B WifLAH!
T 8?
(A) 4
(B) 5
(C) 6
(D) 8
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. Given data set what is Made? 2, 4,
6, 8,10

(A) No mode

(8) 2

(c) 4

(D) 6

347 Glven data set what is range? 2, 4,

6, 8, 10.

(A) 4

(B) 6

(C) 8

(D) 10

. Which type of data is categorical
and can be classified into distinct
categories?

(A) Continuous data

(8) Nominal data

(C) Ordinal data

(D) Interval data

. What type of data measured on
scale with equal interval and has a
meaningful zero point?

(A) Continuous data

L

(B) Nominal data
(C) Ordinal data
(D) Ratio data

268001\A\2023

13 drrdr M XA gy 2 46810 W e

34

35.

36.

(1]

e

() mré T

(B) ?

(Cy 4

(D) &

27 Az A1 A gy A A2
7 468,10

(A) 4

(B) 6

(C) 8

(D) 10

Ry webTe 1 321 Atag & A 33 FET

e Aforadt # et fem 1 A 21
(A) Had T

(B) A A1 22T

(C) WM &2

(D) 3R 22T

Rrq YR @1 221 ve e 9 4 1

mméaﬁﬁmmﬁé?
(A) ad &2
(B) AW WA 3T
(C) WM 8T
(D) 3w ST
PT.O.
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37. Which type of data ranked in a  37. fasa wI @

Fd

specific orders

(A) Continuous data
(B) Nominal data
(C) Ordinal data

(D) Ratio data

I/BB/‘Which type of data can taken value 38.

within a range can be measured with
precsion?

(A) Continuous data

(B) Nominal data

(C) Ordinal data

(D) Interval data

39fhe process of arranging data into 39.

meaningful categories or group
called?

(A) Classification

(B) Tabulation

(C) Frequency Distribution

/D) Data Analysis
40.

40. Which of the following is not the
common method of data tabulation?
(A) Frequency Distribution
(B) Pie chart
(©) Bar graph

(D) Line graph
268001\A12023 [12]

tmmma‘“ﬁh‘

R Tren &7
(A) e ST
(B) AT 3¢
(C) g 32

(D) 3 ST
o o e o1 &1 o v 25 v e oA

i & Amal 22
(A) @aa 3T

(B) A &
(C) |m=a 8T

(D) 3R T
5o @ ks APt an g # e
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/42’.

. What is

the propose of data

tabulation?

(A)

To summarize and organize

data fro analysis
(8)
()
(D)

What is frequency distribution?

To collect primary data
To perform statistical test

To visualize data through chart

(A) A summary of data
(B) A table that displays frequency

(C) Graphical Representation of
data
(D) A statistical measure that

describes the spread data

M a frequency distribution table,

what does the frequency column

represent?

(A) The range of values in data set

(B) The total Number of values in
data set

(C) The percentage of values in

. each category

(D) The number of occurrences of

cach value

/ What is census?

(A) A survey conducted on a small
- subset of population
(B) A technique to analysis data
(C) Collection of data from entire
population

(D) Central tendency

268001\A\2023

141,

42.

43.

44,

[13]

221 areofaTor a1 e @ &2

(A) fagdmor & ford 2er an araifera 7R
ardftora &z

(B) wdaly % wmomd A wrerfirs 3¢1 B
U BN

(C) et uz wifzrbta wiaor &

(D) = 3R e H e A 3 #
HETAT BT

rgfer faawor @ 22

(A) 3TT & g9

(B) v ARV 3 eT AT A ARON B
Zafie 2l

(C) uftsamer wfefitea

(D) v Aifiada a1 3 3¢ e &6 AR
&1 auf &L 2l

mﬁqaﬁmﬁ,a@ﬁfﬁammwﬁm

&2

(A) 31 A & WE B A

(B) 1 e # AT B PT T

(©) virs Aol # et @ yferer

(D) mnﬁ‘ﬁwaﬁmﬁzﬁ
Likc2ll

SO a1 89

(A) SFHEE & U B IEYE R f&an
AT HA&IT

(B) 21 fawdmo & vo daD

(C) ol Fw=Ed | 3T BT HIET

(D) BT vgfer & 7
P.T.0.
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«45. What is the Primary advantage Of

conducting a census?

(A) It provides accurate and
comprehensive data for analysis

(B) It is less time consuming

(C) 1Itis less time costly

(D) Identity the outliers

- What is a sample Investigation?

(A) Study conducted on entire
population

(B) Survey conducted on small
subject of population ‘

(C) A method of data classification

(D) A measure of central tendency

{What is the purpose of sampling

research?
(A) To Collect data

(B) To visualize data
(C) To summarize data
(D) To draw

Inferences about

population

487 Which of the following sampling

method answers that each number
of the population has equal chance
of being selected? '

(A) Random sampling'

(B) Stratified sampling

~(C) Cluster sampling

(D) Convenience sampling

268001\A\2023

45,

46.

47.

48.

[14]

TOTE 1 SR T @ 27

(A) v fagerur % fore W 3R D
o1 War @l 8

(B) & @w wwd ol &l

(C) A e JI &

(D) AT B gEaH @l ¢l

AT ST & B

(A) wmwwm%m
T

(B) SRR % v Wi IUE W foa
a1 HAET

(C) o1 affaxor & faftr

(D) i ki B A1 BN T aDI|

siter ¥ AMGRYT BT TN LD 87

(A) ST EHF DA

(B) =T B HegAT PAT

(C) 32T ARIfeTd BAT

(D) e & aR A ey Fdrer

Frafofes & a9 T ogfa a=
ghftaa o<t & 5 e & e
A B G T B T AT e
(A) agRES FAT FHROT

'(B) gd TRl

(C) e THATDROT
(D) féren EaRoT
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49, Given data set what is standard

deviation? 2, 4, 6, 8, 10

(A)
(B)
(©)

1:5
2.6

3.0

(D) 3.5

%0 Given

the fallowing data

OGy): (1,5), (2,8), (3,6), (4,10),

(5,7) What is regression equation Y

on X

(A)
(8)
()
(D)

(A)
(B)

(C)

(D)

Y=2x+1b
Y=1.2x+3c
Y=0.8x+4d
Y=0.6x+2

What is arithmetic mean?

The middle value in a dataset

The most frequently value
occurring in a data set

The average of all values-in
data set

The difference between highest

value and lowest in data set

y/f‘vhat is the median?

(A) The middle values in data set

(B) The frost frequently value
occurring in data set

(C) The average of all values in data
set

(D) Highest value and enslave value
in data set

268001\A\2023

49

50.

= 28

32.

[15]

frtdBaa 221 der &1 Brerr a2

246810

(AY 15
(B) 286
(C) 30
(D) 35

frevferRaa 321 % A regression equation

y U x @ v

0Gy): (1,5), (2,8), (3,6), (4,10),

(5,7)

(A) Y=2x+1b

(B) Y=1.2x+3c

(C) Y=0.8x+4d

(D) Y=0.6x+2

simnfordra area @ 22

(A) 221 AT & 7eg a1 2|

(B) 221 AT & wa¥ ftid ar A= aren
=

(C) %21 Az F w wHl & aited

(D) 221 Je ¥ Jeaaw 3R Faw 7= &
da @1 3R

HTeaeT a4l &°?

(A) 2T IT S 7T

(B) f&eh 31 ¥ & v 3ftd AR I
aqren 99

(C) forst Ze1 ¥ F wt W a1 siter

(D) foet Se1 JT & Ioaaw 3R = A=t

& 99 3 3R
P.T.0.
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/5,3: What is range?

(A) The middle value In data set

(B) The most frequently occurring
value in data set

(C) The difference between highest

values and lowest value in data

set

None of above

fw/@
. What is mean deviation?

(A) The middle value in data set
(B) The most frequently recurring
value in data set

(C) The average of all absolute

deviation from mean in data set

None of above

(D)

o~

/5’!:":. Which of the measure of central

tendency affected by the extreme
values

(A) Mean

(B)‘ Median

(C) Mode

(D) None of above

56. The sum of deviation from mean is

always

(A) Zero
(B) Positive
(C) Negative

(D) None of above

268001\A\2023

53, drar aa 27

54.

55.

56.

[16]

(A) foreht derde & wed 1
(B) Cod 31 A i T e @’ 3

e A
(€) fr 31 A B Foaaw R B

At & drdg @1 IR
(D) Fores & B T

ez e @ 27
(A) 321 Jc A 7ed B AH
(B) mwmﬁmme

aren A
(€) serie 3 wea & e gl faae &
Fra
(D) IR P§ el
aaaﬁungﬁrwaﬁﬂ-mquﬁﬁ%

wufer & @7

(A) mmEH

(B) ez

(C) @13

(D) IRWH DI el

wien A frgerm @1 A gden & &
(A). T

(B) FORIGI®

(C) BRI

(D) IR B T
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V

52.

In positively skewed distribution,
The relationship  between mean
median and mode s

(A) Mode > Median > Mean

(B) Mean  Median > Mode

(C) Median > Mode> Mran
(D) None of above

Which typec of 1nean is used when
dealing with a set values that have
different weights or Importance?
(A) Arithmetic Mean

(B) Geometric Mean

(C) Harmonic Mean

/(D) Weighted Average mean

- 59, Which mean is suitable tor averaging

ratic or propoitions?
(A) Arithmetic Mean
(B) Geomelric Mean
(C) Harmonic Mean

(D) None of above

EO/W hen the median ic must appropriate

measure of central tendency? When
the data set _ _

(A) Contains extern outliers

(B) Has syminetrical distribution
(C) Has a skewed distribution

(D) Is categorical distribution

268001\A\2023

57.

58.

59.

60.

[17]

ey A Py Ysaror w, wa,
siffzrst ot ages i Aver e 2

(A) wivg > arftzest > wea

(B) wezr > btz > i

(C) wttas > Wz > qea

(D) FUreh DY A

fafira wR 21 we@ A g & HIE 4

Pz ¥ 2t e ware & wen &1 3T
fpan aman 27

(A) siprfordta mmea

(B) samfudia wiea

(C) emitf-ies Wi

(D) wRa wex

W e @ s & fore fea o
&1 e Fad I9Geh &2

(A) ST wed

(B) waffadra A

(C) T ATl

(D) IR B el

aiftae F4a waf B A & FaE I

UMY B4 &?

(A) & 321 J¢ # TRH NI 7T 2 2l
(B) 3@ ¥e1 Ae Afira farmon dran 21
(C) & a1 e A fawm freon Ben 21

(D) & %1 ¥ Aofag dan 2l
P.T.O.
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61,

62.

63

Which type of mean is commonly
used to calculate average rate of
change or growth rate

(A) Arithmetic mean

(B) Geometric Mean

(C) Harmonic Mean

(D) None of above

Which type of mode is used when the
data set has two values that occur
most frequently

(A) Unimodal

(B) Bimolal

(C) Trimodal

(D) No mode
In a dataset with the following
values: 2, 3, 4, 5, 6 which measure
of cenfral tendency will be equal to4?
(A) Arithmetic mean

(B) Geometric Mean

(C) Harmonic Mean

(D) Median

268001\A\2023

62.

63.

(18]

(D) IRIH PE Tl
S 321 A 3 @ W wa i AR g &l

2 R TR @ Wig dar 87

(A) gfmise
(B) amgHIsT

(C) grgHisd
(D) @1 Aig &l

PrafoRea 21 ¥€ 2, 3, 4, 5, 6 A N
Bl-a1 P vafr &t 7T 4 & SRR BN
(A) SiHTORIT Area

(B) wafadra s

(C) emifas wrez

(D) wiftaa
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64. In a binomial distribution, the out

1

66.

67.

comes of each trial are
(A) Continuous

(B) Discrete

(C) Random

(D) None of above

In a binomial distribution, the
probability of success in each trial;
(A) Is constant

(B) Varies

(C) is always Zero

(D) is always one

The number of success in a binomial
distribution follows which probability
distribution?

(A) Normal

(B) Poisson

(C) Exponential

(D) Binomial

The mean of a binomial distribution

is equal to

 (A) NxP

(B) Nx(1-P)
(C) N+P

(D) N-P

268001\A\2023

H4

65.

66.

67.

[19]

fdmm veren 8 werten afam & ofrore #

(A Fqrar
(B) 714
(C) =t

(D) THPYH HIE 44

faua faaom 8 ySm aRemn W e o

Hyra-

(A) Frore

(B) fira

(C) #9994
(D) &I UF

e frawo §, geaarat & dn 5

iurenan faaRor @1 FgERor B2 2
(A) AW

(B) ugH
(C) T

(D) fem=
fgue faa=or &1 mie avreR 2

(A) NxP
(B) Nx(1-P)
(C) N+P

(D) N-P
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oot Ze AR 2
68. The variance of binomial distribution 68, faua faazor @1 7 §

fs equal to (A) NxP
A
(A) Nxp (B) Nxpxq
(B) Nxpxq

(C) NxP?
(C) Nxp?
(D) NXQ; (D) NXQ}

~69. In a Poisson distribution, the random 69. urgyr faador #, U@m o @il &1

variable represents ) ;
(A) chemit @ ve P EE A

(A) The number of sccesses in a

fixed number of trial X & a
(B) The waiting time between
events (B) weAR & dra gdlensdt & THA

(C) The proportion of successes in

(C) U A H Aherdl Bl AU

a sample

(D) The sum of Independent .
(D) w@dA GREd T & A
random variable

70. The Poisson distribution is often used 70. Ui fdaRor &1 39 R Hisa & fow

a mociel
(A) Coin flip feem e &1
(B) Time between phone calls at (A) Faam 3o
call centre o .
(B) &fdt X R B Hict & aId &1 G5

(C) Number of student in class
(C) & # Bl o T

room

(D) INIH # B Tel

(D) None of above
268001\A12023 [20]
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#4. The mean and var

ance of g Poisson

distribution are,
(A) Always equal
(B) Always different

(C) Equal underspecific Condition

(D) Different under

specific
Condition

72. The normal distribution is also known
as the-
(A) Gaussian distribution
(B) Exponential distribution
(C) Uniform distribution
(D) Poisson distribution

73. The shape of normal distribution-
(A) Symmetrical
(B) Skewed to right
(C) Skewed to left

(D) Uniform
© 268001\A12023

71, arge o o e 3R freor &
(A) &9 el
(B) @nem e
(C) fafdre afifufoal % aveR
(D) fafore ufifuferar # arem

72. QT faeRoT Y 2 wa A WY ST e 8-
(A) Tifea faazor
(B) i faarur
(C) = faa=or

(D) @A faRo

73. A feRoT & AR &2
(A) wwiHd
O R
(C) ¥ IR ferwr
(D) |9 H

[21] P.T.0.
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74. In a normal distribution, the mean,
median, and mode are-
(A) Always equal
(B) Always different
(C) None of above
(D) Both (A) and (B)
75. The standard deviation determines-
(A) The spread of data
(B) The shape of distribution
(C) The mean of distribution
(D) The range of data
/?6./ The area under the normal
distribution curve between the mean
and one standard deviation above
mean represents what percentage
of data?
(A) 34%
(B) 68%
(C) 95%

(D) 99.7%
268001\A12023

76.

[22]

(B) e fim

(C) Forren g T

(D) s (A) 3 (B) @
s feraer Faedfea e 2
(A) 821 TER

(B) #21 & FDHR

(C) foeroT &t AT

(D) o1 & A

e AR g % FUE O A faae &
& | faRoT a6 $ A & e
&1 fopern wfaera ofar 22
(A) 34%
(B) 68%
(C) 95%

(D) 99.7%
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ﬂt The standarg Normal disttibution K

as 77 e wraren Syeeeer s v &
a mean of
(A) O
(A) O
By 1
(C) -1 <)
(D) Any real number (D) @8 areatam sm

A8. The central limit theorem states 78, FEr A s A BRI ? 5 pn
that the sam ‘
pling distribution of i @t A freyror Frrerean faaTor %

sample mean approaches a normal

ibuti yvepre o e o faen, ogAr g ag
diStrlbUllon as the sample iz

Increases regardless of the shape of R faavon ad agadt
the population distribution (A) &
(A) True
(B) Terd
(B) False
(C) IRFD PG A&l

(C) None of above

(D) Both (A) and (B) (D) IR¥D (A) 3R (B) A

7%\ a binomial distribution the number  79. fgue faeRor #, wewn & F=a & =

of trial is denoted by- ‘ RI Tl e 8?2
(A) n (A) n
(B) p (B) p
© q | (©) q
(D) np (D) np
[23] P.T.0.

1268001\A12023
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B80. The standard deviation of a bionomial

81.

distribution is equal to
(A) vn
(B)
(C)
(D) ynpq

The probability of density function of
a normal distribution is characterized
by

(A) A bell shaped curve

(B) A step function

(C) A linear function

(D) A Constant value

Mhich of the following is not a

component of a time series analysis-
(A) Trend

(B) Seasonality

(C) Forecasting

(D) Cyclicity

268001\A\2023

g0, e fercor & ATAD Frerer AT #

81.

82.

[24]

J/n

(A)

(B) 4/np

F

(cy J/np

(D) /npq

Ummnrruﬁamaﬁ‘l‘éﬂmmm*

&t ferdvaar #:

(A) P G B ATBR B 9P

(B) O TR BRI

(C) s Has baTH

(D) o fer dag

fort 3 -1 UG @ BT TCD e &2
(A) T&=

(B) #renf

(C) g

(D) DI

https://sarkarinaukarikform.com/


FreeText
https://sarkarinaukarikform.com/


,‘I-

3 mwnefﬂ of a time seriag
L fEpresents-

_ u) The 'Oﬂg term Cliveretion and

movement of data

.,.‘ (8) The short  term fluctuation

around mean

. {€) The seasonal pattern in the

; F data
" (D) The irregular  or

tandom

variation in the data

Which type of correlation is used

L B S
e

to measure the linear relationship

between two variables?

% (A) Pearson correlation

(B) Spearman correlation

(C) Kendall correlation

{D) Point-biserial

| ch type of correlation is used
: " when variables are measured on a
* ordinal scale?

(A) Pearson correlation

._ (B) Spearman correlation a1,
(C) Kendall correlation |
(D) Point-biserial |

83, wun spmen w1 Wyt wem gt &

85.

[25]

(A) m*m%ﬂiﬂ"ﬂﬁ

(B) wmn B Frwa gl
72T

(Cy &z ot #24

(0) fvafia o avfeey saewa 3211

P w1 wewan 4 o) b dra

A F war &2

(D) uic-aré Efaa

7@ ot B P dar R A I 2 A B
R 3 ey @ i foa T &2
(A) fuods wggay

(B) WRRHA wWEddY

(C) &=t wRaY

(D) uie-ar Jfkaw
P.T.0.
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B6. Which the of correlation Is used

87.

88.

when variables have a nonlinear

relationship-

(A) Pearson correlation
(B) Spearman correlation
(C) Kendall correlation
(D) Point-biserial

When the

correlation measures

strength and direction of the
relationship between two ranked
variables-

(A) Pearson correlation

" (B) Spearman correlation

(C) Kendall correlation
(D) Point-biserial

hich type of correlation is used
when one variable is dichotomus
and other variable is continuous?
(A) Pearson correlation
(B) Spearman correlation

(C) Kendall correlation

(D) Point-biserial corrclation

268001\A\2023

86.

87.

88.

[26]

ﬁma’t‘:mmé’maﬂﬁ!mmﬁ?hf?ﬁn
uasn%ﬁzrarmmrmmmﬂmm?’
(A) firaafer wEda

(B) wrad GEEay

s ) s AR e Y A 8l
(A) forads geday

(B) Wrgwis wgHay

(C) ®scT geay

(D) uiz-ars TRaet
e v X fganfora & 3R g R Faa

B a1 f5a TR & ey &1 3uam e
T &2

(A) TR ey

(E) R wEHdy

(C) ¥eer wEwa

(D) uic-at ARaet weway
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AVhat is Statistics?

(A) The art of collecting data

(B) The science of Collecting

analyzing and interpreting data
(C) The process of visualizing data

(D) The study of mathematical

formula

90. What is the scope of statistics? 90

(A) Limited to the field of
mathematics |

(B) Limited to financial Analysis
(C) Applicable to all field industries
(D) Restricted to data collection

(9/ Why is statistics important in 91
business?
(A) It helps in forecasting sales and

demand

(B) Inimprove employee morale
=y

(C) It reduces production cost

(D) It enhance customer services

268001\A\12023 ' [27]

89. wiferf am @7

(A) 321 U&7 B B Hen

(B) 2 ez @, fawemor w@ Ak
e B3 o fagm

(C) 31 o @iy & ufipen

(D) g g @ HemT

. gifa® @ aa] aar #?

(A) TfoTa % & aa i
(B) forrar faredraor a6 it
(C) u &t 3k it w @y

(D) ¥aa 31 e o fta

. a9 ¥ TifEd 1 31 7™ 8?

(A) g fae 3R =i &1 g e &
HEgaRdl 2|

(B) B THAIRG! & FAEd D JURA
2l

(C) wmmammél

(D) g UTED B a1 B &g 2
P.T.O.
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97, Which of the following is not the

measure of central tendency- (A) Hifta®!
(A) Median (B) e
(B) Mode

(C) wreAa
(C) Mean

(D) &
(D) Range

/93: What is the purpose of statistical 93 Hﬁﬂaﬁmmmmg?

Inferences? https://www.msustudy.com

(A) To describe and summarize
data (8) . %ﬁﬁﬂﬁmﬂuﬁm

(B) To make predection about

(C) iRt @ TOHT HIAT

population

(C) To calculate probability
(D) %1 % WER @1 FeiRa &

To determine spread of data

4. Which of the following is measure of 94, for= % Bt w1 thera &1 W §|

dispersion (A) .
(A) Standard deviation
(B) foRem=
(B) Skewness
(C) Kurtosis (C) =i
(D) Z-Score (D) Fe-THR
268001\A\2023 [28])
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(‘5. What is the purpose of Hypothesis 96, uftmern wha my e am #?

sEsting? (A) 51 HBR Feftfra wmr=n

(A) To determine sample size (B) Feream W I ATTY

(B) To estimate population
foqor
parameters
(cy aftmut w5 aifba el W
(C) To evaluate statistical

yeaim a7 & foqw
significance of results

(D) None of above (D) G DY 2

96. at is the role of regression 96. waaarg A sfemr faveaur & ar ot

analysis in business? &
(A) To determine average (A) ATAA it Tt ® dra drEa
relationship variables gy Praffa a3 & o
(B) To measure central tendency (B) ¥ wgf & 7
(C) To calculate probabilities (C) wiRiear & T & fore
. (D) None of above (D) TRIH D A&
97. What's sampling statistics? 97. WiREP FAH F1 22
(A) The process of collecting data (A) T T 3 @ s
(B) The process of selecting subset (8) T B R & s
of population ey B ol s B s
(C) The process of visualizing data . SR e
(D) The process of analyzing data
2680011412023 [29] P.T.0.
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98. What is type I error?

(A) Rejecting a truenull hypothesis

Gagl
(B) Accepting false null hypothesis . ﬁwWﬁWW
(C) Failing to reject a true null © %wwmﬁm
hypothesis O 1 fawa Ll
(D) None of above (D) IR 1§ el

AQ. What is the purpose of statistical

software in business &2
(A) To collect data (A) 321 vEA B!
(B) To visualize data (B) 3¢ @ T
(C) To analyse and Interpretable (C) 3e1 @1 fageryor 3R sarEdn AT
(D) None of above (D) IRIF 1§ Tel
100, What is standard error means?  100. 7T B WS 3 &2
(A) The average of sample data (A) A éET & 3d
(B) The S.D. Sample data (B) T AR R ICRAL R RGH
(C)' The mar.gin of errorin estimating (C) FAHET /ey B I RUIC R 3%
the population mean | & s
(D) None of above (D) IRNE 1S &
268001\A\2023 [30]
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